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1 .A
 
B. 50 
C. 1000 
D. 2000 

Answer: B 

QUESTION: 88
 
Which of  the following is  NOT a component  of  the RSA DLP Network? 
  

Sensor .A 
B. Controller 
C. Interceptor 
D. ICAPserver 
E. Enterprise Coordinator 

Answer: E 

QUESTION: 89 
Which of the following can NOT be detected by a properly configured policy using 
RSA DLP suite? 

Employee Medical records on a network file share .A 
B. Customer names and credit cards on an employee's home computer 
C. An employee emailing confidential corporate financial records through Yahoo 
web mail  
D. Transmission of customer names, and social security numbers through AIM 
instant messenger 

Answer: B 

QUESTION: 90
 
What is the best definition of "Precision" as it  relates to creating DLP Policies? 
  

27



     
          

    
           

       

 
 
   
  
   

 

       

    
     
     
      

           

 
 

 
    

Precision is identifying all content in a category .A 
B. Precision is identifying only the relevant content in a category 
C. Precision involves correctly finding who sent the transmission 
D. Precision involves notifying only the appropriate personnel on creation of an 
incident 

Answer: B 

QUESTION: 91
 
Which of  the following are not  used for  detecting sensitive content? (Choose two) 
  

Entities .A 
B. Dictionaries 
C. End user Fingerprint 
D. Regular Expressions 
E. File Security Manager 

Answer: C, E 

QUESTION: 92
 
Which  of  the  following  is  not  a  supported  implementation  of  the  DLP SUITE? 
  

DLP Interceptor and Endpoint .A 
B. DLP Endpoint and DLP Datacenter 
C. DLP Network and DLP Datacenter 
D. DLP Network and DLP Endpoint Enforce 

Answer: A 

QUESTION: 93
 
Which of the following is NOT a factor when creating content rules? 
  

Counts .A 
B. Weighting 
C.  Exclusion Rules 
D. Correct Spelling and Grammar 
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Answer: D 

QUESTION: 94
 
How close to each other must the matches occur in a document is the definition of: 
  

Weights .A 
B. Proximity 
C. Rule thresholds 
D. Score Thresholds 

Answer: B 

QUESTION: 95 
Which of the RSA DLP Network Appliances can have quarantine as an available 
policy  action?  

RSA Datacenter gridworker .A 
B. RSA DLP Network Interceptor 
C. RSA DLP Network ICAPserver 
D. RSA DLP Enterprise Manager 

Answer: B 

QUESTION: 96
 
What is external cache as it relates to the RSA DLP SUITE? 
  

The results from the last scan of a target file share or endpoint .A 
B. Area of memory that holds fingerprinted documents. This speeds up the process 
of  scanning  
C. A holding area on the interceptor appliance that holds the most 
frequently used email nattachments 
D.  An  optional  add-on  hardware  option  for  the  Sensor  appliance  to  enable  it  speed  
up content analysis 

Answer: A 
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QUESTION: 97 
The RSA DLP Suite  comes pre-installed on Windows based Appliance PCs.  The 
customer does not need to supply any servers for installation of the full DLP 
product suite. 

True .A 
B. False 

Answer: B 

QUESTION: 98 
Which are the two options for scan types in RSA DLP Datacenter? (Choose two) 

Sharescan .A 
B. Agent scan 
C. Network Scan 
D. Endpoint scan 
E. Scan by Grid workers 

Answer: B, E 

QUESTION: 99
 
When is  it  required to deploy an additional  Site  Coordinator? 
  

WAN separation .A 
B. LAN - domains with inter-domain trust 
C. When there are more than 25 gridworkers 
D. When adding an additional Enterprise Coordinator 

Answer: A 

QUESTION: 100
 
Which the following is NOT true about the Enterprise Coordinator?
 

Harvests Results .A 
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B. Creates, Deploys, and manages Site coordinators 
C. Can have 50 Enterprise Coordinators per Enterprise Manager 
D. Can be installed on the same machine as Enterprise Manager 

Answer: C 
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